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01 M= HI 2,000 2,000
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6,000,000 22 12,000
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-Holggd 745 200,000,000& 200,000
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308 AtXIEMSOIE 1,000 1,000
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-2At EM7Y 15,000 x24 B33 1,080
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80,240 *7&*253] 14,042
cR2sftzs2 R0 FY o
150, 0002 *3 %8 3,600
o4 BEZ 17,642, 0002 5 883
201 Ler2 | 366,535 316,960 49,575
01 A2l 49.1%5 49,620 N85
o230z 2H A2E
400,0002 %95 3,600
CE2NHAIX AFZBZ (S0, L S)
4421%2,000% *503] 4,400
o222 HX(3Y, g5t 5) 35,220
-SRI (M) 2002 *2,0000H* 133 5,200
~ZLAE((2B) 6,000& *5001*253] 7,500
~S4-0t 55,0008 * 147l 4263 20,020
—REE 100,0002 1Dl 4253 2,500
o3l 2 Y
1,300,000 *23 2,600
CRHYRRZ ZAlH|
9,0002x32* 125 3,375
2 ISl 13,340 13,340 0
oBI= 230 &3 A ET
5,000,002 %13 5,000
oRUAIE (S8, =Y, 20) 3l
300,000 *13] 300
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202 04| 3,000 3,000
01 =LHOLI 3,000 3,000
o2dYR = 20,0002 x3&*50& 3,000
206 MH=HI 25,200 25,200
01 MHZH| 25,200 25,200
oZHE A2F 350,000 x185+43] 25,200
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14 DBt 2 a3 22,680 22,680
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SSEME =E E 29 927,4% 567,702 369,792
SYEME 2 2 729,567 384,539 345,028
CATY & 2 223,629 187,743 35,886
101 21A4H| 18,170 17,847 323
04 JIZtN2 2N S 2+ 18,170 17,847 323
oFY TAH oY
80,2402 x2H *102& 16,369
42 g = 16,368, 9602 *11% 1,801
201 Ler23| 82,428 72,3% 10,032
01 At2teltl 65,928 58,296 7,632
o™I|IAHE 25,0002 x105+ 122 3,000
ctensz 4,800
-S4 20,0002 x105+ 122 2,400
NN 10,0003 x205+ 123 2,400
oldIlEz== 55,0002 x55* 123 3,300
oRRIE USES 300,000 52 1,500
oFMTN=EY S SESHA
1,700 *1,5000K 2,550
o AZ0ISeH At S HIA
4,250,000 4,250
o A2t PR SAHI
9,000 x5& x50 2,250
otz B 2= 1,400 +6,6302 9,282
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4,000,000 22} 8,000
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oTHRYUE 2YUS 0182
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oL NAHR =X 20,0003 x5 %48 4. 800
405 KA EH| 118,231 92,500 25,731
01 AL Z2EFSH| 10,731 5,000 5,731
o MIt 2,500, 000& *2JH 5,000
oHMITAIE FEHD| 5,730,780 x1CH 5,731
02 S| 107,500 87,500 20,000
o AUHFE A 15,0002 %5,8302 87,450
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50,000& %4015 20,050
MAE A|AE 222 386,994 84,944 302,050
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77,0002 x200H 1,540
o0|AE SR (BHAl S)
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1,006,400&x 128 12,077
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oA HERT L EgtH SXE4
40,000,000 *%% 3,600
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ozgT A2 SHOIX |2+
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o AM2ACIANAE 224RE 0188
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02 MAHHEHI 206,030 206,030
o MB&ARIAAY MHWT=H
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oXPHHE BHeD| 28,050,660 *2H 56,102
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201 et 3| 5,060 5,100 A0
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o428 = 10,110,240 +11% 1,113
201 et 3| 1,220 1,220
01 At2t2l] 1,220 1,220
oXN2EAMR XZ B 7=
1,400 »2002 204 A 560
ORSTAR ARES
330,0002#25 660
301 EtE NS 19,600 12,600 7,000
14 JIEt 243 19,600 12,600 7,000
oX2T A2 2 2Y HA+E
60, 000& *2AI 2t *102| x4 Bp+20H A 9,600
o MZe|R AHIZAH4AIZH0IA)
0,000& »2E 250 10,000
405 AHaHE = 6.000 6,000
02 =A=HI 6,000 6,000
o UBIE A 15,0003 x2002 +20H 2= 6,000
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oM € 237 29 2 101,930 100,935 995
101 21AH| 16,458 16,091 367
04 JIZtN2Z2XNS 2= 16,458 16,091 367
oAIZHH 22XHH4A) 1Y
10,0303 »4A| 2Hx 154 6.179
o22X EX=z 514,000&x1H 514
SAIZIH 22IHE. 2 £AFe) o2
80,2403 x 1 »102& 8,185
cAHEEE 1,580
-AIZEM 22X 21fY
14,362,0002 *11% 1,580
201 er23| 54,472 53,844 628
01 At2teltl 31,012 30,384 628
o™I|IUAHS 10,0002 155122 1,800
SHEA=E 14,0003 x75+ 128 1,176
o MERISE(3JIE, RFID B S)
250,000 *45 1,000
oA HAES 85,000&x105 850
cHIZHY L2F(SADI, ZEH EH)
212,500 +45 850
otz B 2= 1,400 +2,0002 2,800
o0t 24 28 BHIEY
1,833,000& «12& 21,996

_785_



2A:

TMDSHES

Y ZZCNT BE YL 29
ool AT 29 B2l (chol @)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
o A2t HF =M A
9,000 1860 540
02 S3=gHl 23,460 23,460 0
ot HEMS HIIRS
1,955,000« 128 23,460
202 04| 1,000 1,000
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405 AHatE = 30,000 30,000
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AN 2etud 24 28,800 24,000 4,800
301 EtE2 NS 28,800 24,000 4,800
14 0Bt 2a3 28,800 24,000 4,800
o=gtud 2E HArY
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-AIZER 22RHE ) 212y
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oHlE ASE 14,0002 85+ 122 1,344
OMNRES 200,000 432 800
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